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Examine the view that the state of material well-being of a nation is captured quite

accurately in its per capifa Gross National Product. - 10

Comment on the robustness of Mean Absolute Deviation as a measure of

inequality. : 5
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Despite improvements in health and income over time there have been several

catastrophes which have reversed progress. Discuss. . ' 8

Explain the concept of mobility matrix. Construct imaginary mobility matrices to

show :
(f) low incomes are sticky
(i) ro mobility at all. - 7
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In the Solow modél, the production function is given by y = k”, where y is
the per capita output and & is the per capita capital stock. Assume k is 25. The
economy saves 30 percent of its national income. Rate of population growth and
rate of depreciation are 1 percent and 5 percent, respectively. Is the economy at

its steady state ? 5

The Solow model is a special case of the Harrod-Domar model. Discuss. 10
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Explain how spillovers of physical capital accumulation lead to a pace of growth that is

suboptimal from the social point of view. How is this case different from the one where .

complementarities impact decisions vis-a-vis capital accumulation ? 9,6
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5. The table below shows. the income per in‘dividualb per day in countries Aand B.

Income per individual per day (in Rs.).

Individual 1 | Individual II Individuat [11 | Individual IV Individual V | Individual Vi ' O

Country A 100 x0 [ 10" 110 150 200 S

Country B o 25 200 175 150 6w |

(@) Calculate the Gini Coefficient (GC) and Coefficient of Variation (CV) in both the oounu'ie_s '
and give inequality rankings. - o - 10

(b) Assume the poverty line as Rs. 120 per capita per day in both .clopntries.
" Calculate the Head Count R‘ati; (HCR) and the Poverty Gap 'Ratio. (PGR) in both
the cbuntries. | \ v - . , - 5
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(@) Discuss the problems involved in computing a poverty line and adapting it over Space
(6) Discuss the dynamics of income inequality in Europe and the US jp the 20th

(@) WW@W@@W@W%WWﬁWWW@E

(b) 2oﬁaﬁﬁqﬁnaﬁxaﬂﬁmﬁﬁaﬁmmmﬁwﬁmmwﬁ

P.T.O.




(6) . 6009

Explain how the imperative of secrécy makes corruption more¢ distortionary than ’t_axes.

Further discuss the consequences of the market structure on the level of corruption in the

provision' of complementary government goods when there are multiple agencies selling the

- same good. | . 15
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